Answers to Selected Problems
Chapter 9

9.4
(a) 150,000 units
(b) Marginal contribution = $1.70; operating income = $85,000
(c) Beakeven volume = 159,375; operating income = $65,000
9.5

(a) tax rate w/o project = 34%



     tax rate with project = 34%

(b) w/o project = 34%, with project = 34%

9.9

(a) $48,333, $42,778, and $61,296


(b) 34%, 34% and 34%
9.11
 Net cash flow: -$250,000, $93,754, $102,679, $96,554, $92,179, and $141,085.

9.14
(a) Net cash flow: -$54,000, $27,830, $33,088, $30,929, $28,957, $23,627, and $22,539.


(b) AE(12%) = $15,194

9.16
$350,794
9.24
(a) Net cash flow: -$60,000, $51,063, $56,768, $49,382, $44,603, and $53,291

(b) PW(20%) = $93,479


(c) IRR = 82.19%

9.28
(a) with no borrowed funds, PW = $9,403

(b) with borrowed funds, PW = $10,629

9.31
Option 1: -$695,968


Option 2: -$931,548


Option 3: -494,434

9.33
(a) -$21,670


(b) -$21,071


(c) Borrow-buy option

9.35
(a) $34,659

(b) $47,388
9.38
(a) -$160,000, $58,174, $66,750, and $151,962

                  PW(20%) = $22,773
9.43 (a) -$65,000, $47,920, and $94,783
(b) IRR’(%) = 51.04%

(c) Accept the project

9.47
18.9%
9.50
β = 1.5

